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Homework 10-7 Writing the Equation of Perpendicular Bisectors

1 The coordinates of the endpoints of 47 are 4(0,0)

and B(0,6). The equation of erpendicular x.
bisector of 4B is do ‘ﬂ;, AL
1) x=0 Mg Q 2 fﬂ) Li;,
2) x=3
3) y=0
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2 'Which equation represents the perpendicular
bisector of A8 whose endpomts are A(S 2) and
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3 Triangle ABC has vertices A(0,0), B(6,8), and
C(8,4). Which equation represents the

perpendicular bisector of 8C?
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4. Write the equation of the perpendicular bisector that goes through the line
segment with endpoints A (2,1) and B (6,-3
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5. Write the equation of the perpendicular bisector that goes through the line
sEin(nf with endpoints of A(-1, -2) and B (-2, -8).
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6. Write The equation of a Ime that is wd,i,;uh_r toy = -2x + 4 that passes
through the point (8 8). * =71

U 8=5(X ~'_;) ._,'Lm:._‘}z__
s
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7. Write the equation of a line that is Eumlle toy=-4x+12 that goes through the

poml(,j)q- A1) mn=-4
j—-g%“ ~4X +%
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-esson 8: Exploring Equations of a Dilated Lines

dinate axes:

- §=3x+4
y= 2K A

e following lines on the cog

and

/and = 2x
X Y

x Y
-1 0
0 1]-
1= 2.
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Lesson 8: Exploring Equations of a Dilated Lines

1. Graph the following lines on the coordinate axes: \ 1 /
y=3x+4 and y = -2X ]
/
2. Fill out the table of values for each line:
4
y=3x+4 and y = -2X 4
x | Y X 14
-1 1 0] O /
0 4 1 -2
1 7 2 4 /
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3. Dilate each of the points inyour table using o.e:n‘l'e:red Q/

about the origin and put the coordinates in the tables below:

Gy ) : Multipl
: firy

T 0L [« 1>
= 0D
S 424
1™ 0 | ¢
- 0
.\<\’<> 0 | 4 9\ 1 -2
O 1 7 2 -4
o
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3. Dilate each of the points inyour table using a scale factor of 2 centered

about the origin and put the coordinates in the tables below:

D:,-:u,u)(')"z 3x +4) D:,(D,D}(Y = -2x)
x Y
T2 0 0
0 8 2 |4
2 | 14 4 -6
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4. Graph the new points to d ; uations of the images of the
. . ¢ \k“
dilated lines. mg)c“g v

Do (y= 3x +4) U= 3 X+ 8
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4. Graph the new points to determine the equations of the images of the
dilated lines.

Dy o0 (y= 3x +4)>

Dy oy = -2x)>

y
//
=
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Make a conjecture about the equations of lines that have been dilated:

When a line that passes 'I*hﬂ\ the center of dilation is dilated the new

‘“'“‘"*'““ some SlO
+he saome Mme y- m+

When a line that < m +hr-08uga W\ amr- gu_;saai dnlaed /1+7 )

"é‘f\“&"hges < " $§‘

(mut. bg K)
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Shortcut: To find the new egquation always use matching slopes and to find the new y-
intercept multiply the given y-intercept by the scale factor

b=-a
1. The liney =¢x - 2 is dilated by a scale factor of 5and cenfered at fh.Whlch

equation represents the image of the line after the dilation?

@Does t poss 'Jn\rough oﬂ9m7
— Yes (Some QCNLO\*\GY\)
\__3 NO ( Same. S\% )

Q\-H.‘ _ +
Myt gnwl\(,
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2. Theline y = -7x is dilated by a scale factor of 3 and centered at the origin. Which
equation represents the image of the line after the dilation?

O DS '+ Pass -(-hrowa})

(2)y=-7x+3

3)y = -21 P

(4)3:-21;3 OYlglﬂ ?
yes

11
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3. The liney - 3x = 0 is dilated by a scale factor of 4 and centered at the origin.
Determine tion of the image of the line after the dilation.

12
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4. The liney + 3 = -5(x - 1) is dilated by a scale factor of —2 and centered at the
Determine an equation of the image of the line after the dilation.

ODoes L+ pass

~(0,0)

\j+3=—5§(+5
'j_ -3

; Y= -{x+2
M=-y b=
K-

=

+
s

ough (o)

Same
No ¥ Slope

Ot
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